
Ikzkn”kZ iz”ui= & I 

fo’k; & xf.kr ¼100½ 
Subject – Maths 
d{kk & nloh 
Class – 10th  

 
Lke; & 3 ?k.Vs          iw.kkZad & 100 
Time – 3 hours            M.M. - 100 

¼1½ dSydqysVj iz;ksx dh vuqefr ugha gSA  
(1) use of calculator is not permitted  
¼2½ iz”u Ø- 1 esa rhu [k.M gSA [k.M ¼v½ esa cgq fodYi iz”u [k.M¼c½ esa fjDr LFkkuksa 
dh iwfrZ rFkk [k.M ¼l½ esa lR;@vlR; fn; x, gSA izR;sd ij 1 vad vkcafVr gSA  
(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part 
(B) fill in the blanks and in Part(C) Write true/false are given each question 
carries 1 mark.  
¼3½ iz”u Ø- 2 ls 6 rd vfr y?kqmÙkjh; iz”u gSA izR;sd ij 2 vad vkcafVr gSA  
(3) Question No. 2  to 6 an very short answer type question. Each question carry 
2 marks .  
¼4½ iz”u Ø 7 ls 10 rd nh?kZmÙkjh; iz”u gSA izR;sd iz”u ij 3 vad vkcafVr gSA  
(4) Question No. 7 to 10 an very short answer type question. Each question carry 
3 marks . 
¼5½ iz”u Ø 11 ls 14 rd y?kqmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 4 vad vkcafVr gSA  
 (5) Question No. 11 to 14 an short answer type question. Each question has an 
internal choice . Each question carry 4 marks . 
¼6½ iz”u Ø 15 ls 16 rd nh?kZmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 5 vad vkcafVr gSA  
 (6) Question No. 11 to 14 an long answer type question. Each question has an 
internal choice . Each question carry 5 marks . 
¼7½ iz”u Ø 17 ls 18 rd nh?kZmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 6 vad vkcafVr gSA  
 (5) Question No. 17 to 18 an long answer type question. Each question has an 
internal choice . Each question carry 6 marks . 
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[k.M ¼v½ / Part (A) 
 

Ikz”u % ¼1½ lgh fodYi pqudj fyf[k, & 
Choose and write the currect option  
¼1½ 9 − 𝑥ଶ  dk “kwU;d gksxk &  
¼v½ 3 ] 3     ¼c½ 3 ] &3   
¼l½ &3 ] &3    ¼n½ buesa ls dksbZ ugha  
The zeros of  9 − 𝑥ଶ will be  
¼a½ 3 ] 3     ¼b½ 3 ] &3   
¼c½ &3 ] &3    ¼d½ None of these 

¼2½ oxZ lehdj.k 2𝑥ଶ + 𝑥 − 6 = 0 dk fofoDrdj gksxkA  
¼v½ 49     ¼c½ &7   
¼l½ 6     ¼n½ &6  
Discriminant of Quadratic Equation 2𝑥ଶ + 𝑥 − 6 = 0 will be   
¼a½ 49     ¼b½ &7   
¼c½ 6     ¼d½ -6 
¼3½ fcUnq ¼2] &6½ fdl prqFkkZa”k esa fLFkr gksxk &  
¼v½ izFke     ¼c½ f}rh;   
¼l½ rr̀h;    ¼n½ prqFkZ  
Point (2 , -6) lies in which quadrant :   
¼a½ First     ¼b½ Second   
¼c½ Third    ¼d½ Fourth 

¼4½ 𝑠𝑖𝑛𝜃 × 𝑐𝑜𝑠𝑒𝑐𝜃 dk eku gksxk &  
¼v½ 1      ¼c½ &1   
¼l½ 0     ¼n½ 2  
Value of 𝑠𝑖𝑛𝜃 × 𝑐𝑜𝑠𝑒𝑐𝜃  will be   
¼a½ 1     ¼b½ -1    
¼c½ 0     ¼d½ 2 
¼5½ ;fn ?ku dh Hkqtk6 lseh- gks rks lEiw.kZ i`’B dk eku gksxk &  
¼v½ 36 oxZ lseh-    ¼c½ 216 oxZ lseh- 
¼l½ 6 oxZ lseh-    ¼n½ 200 oxZ lseh-  
If side of a cube is 6cm. then value of whole surface will be    
¼a½ 36 sq.cm    ¼b½ 216 sq.cm   
¼c½ 6 sq.cm    ¼d½ 200 sq.cm 
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[k.M ¼c½ / Part (B) 
Ikz”u % ¼1½ fjDr LFkkuksa dh iwfrZ dhft,& 

Fill in the blanks 
¼1½  tc nks jSf[kd lehdj.kksa dk vkys[k izfrPNsnh js[kk,sa gksrh gSa rc lehdj.k fudk; dk 

------------- gy gksrk gSA  
¼1½ If the graph of a pair of linear equations in two variables is represented by two 

intersecting  line  then the pair of equations has ……………. Solutions.  
¼2½ vk;dj foHkkx }kjk izR;sd O;fDr laLFkk ;k daiuh dks ,d igpku laLFkk nh tkrh gS 

ftls ----------------- dgrs gSaA   
¼2½ The Identification number provided by income tax department to a 

Society/Organization or company is known as …………………  
¼3½  le:Ik cgqHkqt ds laxr dks.k ----------------- gksrs gSA  
¼3½ Corresponding angles of similar polygon are  ………….. 

¼4½ fdlh lekUrj Js.kh dk n oka in ----------------- gksrk gSA 
¼4½ The 𝑛௧௛ terms of an Arithmetic  progression is ………………..  
¼5½ oÙ̀k dh lcls cM+h thok --------------------- gksrh gSA  
¼5½ The Longest chard in a  circle is ……………. 

 
[k.M ¼l½ / Part (C) 

Ikz”u % ¼1½ lR;@vlR; fyf[k, &  
Write true or false 
¼1½ ewy fcUnq ds funsZ”kkad ¼0 ] 0½ gksrs gSaA   
¼1½ The coordinate  of origin is (0 , 0)  

¼2½ sin (90° − 𝜃) dk eku tanθ gksrk gSA   
¼2½ The value of sin(90° − 𝜃) is  tanθ 
¼3½ nks fo’ke la[;kvksa ds oxksZa dk ;ksx lnSo le gksrk gSA    
¼3½ The sum of squar of two odd number is always even. 
¼4½ nks leku thok,¡ oÙ̀k ds dsUnz ij leku dks.k varfjr djrh gSA    
¼4½ Two equal chards in a circle subtend  equal angle  at the  centre.  
¼5½ ;fn C;kt dh x.kuk N% ekgh vk/kkj ij fd;k tk;s rks x.kuk esa nj nqxquh ,oa le; 

nqxquk dj fy;k tkrk gSA  
¼5½ If the interest is calculated semi annually , then the annual rate should be taken 

two times and time should be doubled.  
Ikz”u % ¼2½ 𝑥ଶ − 16 dk xq.ku[k.M dhft, &  

Factories 𝑥ଶ − 16 
Ikz”u % ¼3½ 7 ] 3 rFkk 21 dk prqFkkZuqikrh Kkr dhft, &   

Find the fourth proportional of 7 , 3 and 21 
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Ikz”u % ¼4½ fcUnq A ¼2]3½ rFkk B ¼2]7½ dks feykus okyh js[kk ds e/;fcUnq ds funsZ”kkad Kkr 
dhft,A   

Find the coordinate of mid point of line joinning the points A (2,3) and B(2,7) 
Ikz”u % ¼5½ eku Kkr dhft, &  

 
௦௘௖଻଴°

௖௢௦௘௖ଶ଴°
+

௦௜௡ହଽ°

௖௢௦ଷଵ°
  

Find the value of  :  
௦௘௖଻଴°

௖௢௦௘௖ଶ଴°
+

௦௜௡ହଽ°

௖௢௦ଷଵ°
  

Ikz”u % ¼6½ izFke nl izk—r la[;kvksa dk ek/; Kkr dhft, &  
Find the mean of first ten natural numbers.  

Ikz”u % ¼7½ lekaUrj Js.kh 24]21]18 --------- ds fdrus inksa dk ;ksx 78 gSA   
How many terms of the arithmetic progression 24,21,18 ……  of sum is 78 ? 

Ikz”u % ¼8½ ;fn ,d csyu ds vk/kkj dh ifjf/k 88 lseh- vkSj Å¡pkbZ 10 lseh- gSA rks csyu dk 
vk;ru Kkr dhft, &  

If the Circumference of the base of a cylinder is 88 cm. Then find the volume of 
the cylinder. 

Ikz”u % ¼9½ fl) dhft, dh fo’ke la[;k dk oxZ fo’ke la[;k gksrh gSA  
Prove that square of on odd number is an odd number 

 

Ikz”u % ¼10½ xq.ku[k.M fof/k }kjk oxZ lehdj.k 10𝑥 −
ଵ

௫
= 3  ds ewy Kkr dhft, &   

Find the Roots of quadratic equation 10𝑥 −
ଵ

௫
= 3 by  factorization method 

Ikz”u % ¼11½ “kadq dh Å¡pkbZ Kkr dhft, ;fn mldk vk;ru 550 ?ku lseh- rFkk mldk O;kl 10 
lseh- gksA   

Find the height of the cone if its volume is 550 cm3 and its diameter is 10 cm.  
vFkok /OR 

14 lseh- O;kl okys v/kZ xksys dk laiw.kZ i`’B rFkk vk;ru Kkr dhft, &   
Find the total surface and volume of the hemi sphere of having diameter 14 cm. 

Ikz”u % ¼12½ fuEu lkj.kh dh ekf/;dk Kkr dhft, &  
  

oxZ 0&10 10&20 20&30 30&40 40&50 
vko`fÙk 4 10 15 8 3 

   
Find the median of the following data 

 Class 0&10 10&20 20&30 30&40 40&50 
Frequency 4 10 15 8 3 

 
vFkok /OR 

fuEu lkj.kh ls cgqyd Kkr dhft, &  
oxZ 0&10 10&20 20&30 30&40 40&50 

vko`fÙk 4 5 16 12 3 
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Find the mode of the following data  
Class 0&10 10&20 20&30 30&40 40&50 

Frequency 4 5 16 12 3 
 
Ikz”u % ¼13½ ewy fcUnq ls gksdj tkus okyh ml ljy js[kk dh izo.krk Kkr dhft, tks fcUnq ¼2]3½ 

ls Hkh gksdj tkrh gSA    
 Find the slope of the line which passes through the origin and also passes through 

the point (2,3) .  
vFkok /OR 

  
Y v{k ij fLFkr fdlh fcUnq ds funsZ”kkad Kkr dhft, tks fcUnqvksa ¼5]&2½ o ¼3]4½ ls 
lenwjLFk gSA     
Find the coordinator of the point which is on Y-axis and which is equidistance 
from points (5,-2) and (3,4)   

 

Ikz”u % ¼14½ ;fn nks le:Ik f=Hkqtksa esa 9xABC dk {ks=Qy = 16x PQR dk {ks=Qy gS rks 
஺஻

௉ொ
   

dk eku Kkr dhft,A     

If in two similar triangle 9x Area of ABC = 16xPQR  then find the value of 
஺஻

௉ொ
   

vFkok /OR 
  

fl) dhft, dh ,d ledks.k f=Hkqt esa d.kZ dk oxZ “ks’k nks Hkqtkvksa ds oxksZa ds ;ksx ds 
cjkcj gksrk gSA 
Prove that in a right angle triangle the square of the hypotenuse is equal to the 
sum of the square of the other two sides  

Ikz”u % ¼15½ vf[ky us ,d cSad esa 3 o’kZ ds fy, 250:- izfrekg dk ,d vkorhZ tek [kkrk [kksyk 
rks 5% okf’kZd C;kt dh nj ls mls cSad }kjk fdruh jkf”k izkIr gksxhA  

Akhil opens a recurring deposit account in a bank for three year and depositing Rs. 
250 monthly. Then how much money will be get if the nate of interest is 5% per 
annum ?    

vFkok /OR  
eksgu us cSad esa 50000 :- 1 o’kZ ds fy, lkof/k tek [kkrs esa tek fd,A ;fn C;kt dh 
nj 10% gks rks rFkk C;kt izfr N% ekgh ckn la;ksftr fd;k tkrk gS rks mls fdruh 
jkf”k izkIr gksxhA   
Mohan deposited Rs 50000 for 1 year in a fixed deposit account in bank. If the 
rate of interest is 10% annually and interest is compounded every six month , 
then find the how much money will the bank give mohan on maturity 
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Ikz”u % ¼16½ ABC ds ifjer oÙ̀k dh jpuk dhft, ftlesa BC = 7 ls-eh- B = 45 rFkk AB = 

5.5 ls-eh- gSA jpuk ds in Hkh fyf[k, &  
Construct a circum circle in a triangle ABC  in which BC = 7 cm , B = 45 and 

AB = 5.5cm. Write steps of construction also.  
 vFkok /OR  

,d f=Hkqt PQR  cukb;s ftlesa QR = 6 lseh- ] PQ = 5lseh- vkSj PQR = 60 gksaA 

bl f=Hkqt ds le:Ik ,d f=Hkqt ABC  cukb;s ftlesa 𝐴𝐵 =  
ଶ

ହ
𝑃𝑄 gksA    

Drow a triangle PQR in which QR = 6 cm , PQ = 5 cm , and PQR = 60 Drow a 

triangle ABC similar to triangle PQR , in which  𝐴𝐵 =  
ଶ

ହ
𝑃𝑄 

Ikz”u % ¼17½  lehdj.k dks gy dhft,  
   41𝑥 − 17𝑦 = 99 

  17𝑥 − 41𝑦 = 75 

Solve the equations 
   41𝑥 − 17𝑦 = 99 

  17𝑥 − 41𝑦 = 75 
 vFkok /OR  

;fn a:b :: c:d  gks rks fl) dhft, fd &  
௔మି௖మ

௕మିௗమ =
௔௖

௕ௗ
    

If a:b :: c:d then prove that  
௔మି௖మ

௕మିௗమ =
௔௖

௕ௗ
    

Ikz”u % ¼18½ ;fn A , B  o C f=Hkqt ABC ds var% dks.k gks rks fl) dhft, fd  

𝑠𝑖𝑛 ቀ
஻ା஼

ଶ
ቁ = 𝑐𝑜𝑠

஺

ଶ
 

If  A , B  and C and the interial angle of ABC then prove that  𝑠𝑖𝑛 ቀ
஻ା஼

ଶ
ቁ =

𝑐𝑜𝑠
஺

ଶ
 

 vFkok /OR  
1-4 ehVj yaack ,d izs{kd ,d ehukj ls 25-6 ehVj dh nwjh ij gSA mldh vk¡[kksa ls 

ehukj ds f”k[kj dk mUu;u dks.k 45 gSA ehukj dh Å¡pkbZ Kkr dhft,A  
An observe 1.4 meter tall is 25.6 meter a way from a tower. The angle of 

elevation of the top of the tower from his eges is 45 what is the height of the 
tower. 
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Ikzkn”kZ iz”ui= & II 

fo’k; & xf.kr ¼100½ 
Subject – Maths 
d{kk & nloh 
Class – 10th  

 
Lke; & 3 ?k.Vs          iw.kkZad & 75 
Time – 3 hours            M.M. - 75 

¼1½ dSydqysVj iz;ksx dh vuqefr ugha gSA  
(1) use of calculator is not permitted  
¼2½ iz”u Ø- 1 esa rhu [k.M gSA [k.M ¼v½ esa cgq fodYi iz”u [k.M¼c½ esa fjDr LFkkuksa 
dh iwfrZ rFkk [k.M ¼l½ esa lR;@vlR; fn; x, gSA izR;sd ij 1 vad vkcafVr gSA  
(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part 
(B) fill in the blanks and in Part(C) Write true/false are given each question 
carries 1 mark.  
¼3½ iz”u Ø- 2 ls 6 rd vfr y?kqmÙkjh; iz”u gSA izR;sd ij 2 vad vkcafVr gSA  
(3) Question No. 2  to 6 an very short answer type question. Each question carry 
2 marks .  
¼4½ iz”u Ø 7 ls 10 rd y?kqmÙkjh; iz”u gSA izR;sd iz”u ij 3 vad vkcafVr gSA  
(4) Question No. 7 to 10 an very short answer type question. Each question carry 
3 marks . 
¼5½ iz”u Ø 11 ls 14 rd y?kqmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 4 vad vkcafVr gSA  
 (5) Question No. 11 to 14 an short answer type question. Each question has an 
internal choice . Each question carry 4 marks . 
¼6½ iz”u Ø 15 ls 16 rd nh?kZmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 5 vad vkcafVr gSA  
 (6) Question No. 11 to 14 an long answer type question. Each question has an 
internal choice . Each question carry 5 marks . 
¼7½ iz”u Ø 17 ls 18 rd nh?kZmÙkjh; iz”u gSA izR;sd iz”u ds vkarfjd fodYi gSA 
izR;sd iz”u ij 6 vad vkcafVr gSA  
 (5) Question No. 17 to 18 an long answer type question. Each question has an 
internal choice . Each question carry 6 marks . 
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[k.M ¼v½ / Part (A) 
Ikz”u % ¼1½ lgh fodYi pqudj fyf[k, & 
Q. (1) Choose and write the currect option  

¼1½ v/kZo`Ùk dk dks.k gksrk gSA  

¼v½ 90  ¼c½ 30  ¼l½ 60  ¼n½ 180  
Angle of semicircle become  

¼a½ 90 ¼b½ 30  ¼c½ 60  ¼d½ 180  
¼2½ oxZ lehdj.k 3𝑥ଶ + 2𝑥 + 7 = 0 ds ewyksa dk ;ksxQy gSA  

¼v½ 
଻

ଷ
   ¼c½   

ିଶ

ଷ
  ¼l½  

଻

ଶ
  ¼n½  

ିଶ

଻
 

Sum of roots in a quadratic equation  3𝑥ଶ + 2𝑥 + 7 = 0 is    

¼a½ 
଻

ଷ
   ¼b½  

ିଶ

ଷ
  ¼c½ 

଻

ଶ
   ¼d½ 

ିଶ

଻
 

¼3½ cgqin 𝑥ଶ + 5𝑥 + 6  dk xq.ku[k.M gS &  
¼v½ (x+2) (x+1)  ¼c½ (x+2) (x+4)  ¼l½ (x+1) (x+3) ¼n½ (x+2) (x+3)  
Factor of polynomial 𝑥ଶ + 5𝑥 + 6  is    
¼a½ (x+2) (x+1)   ¼b½ (x+2) (x+4)  ¼c½ (x+1) (x+3) ¼d½ (x+2) (x+3) 

¼4½ 1 + 𝑡𝑎𝑛ଶ45° dk eku gS & 

¼v½ 𝑠𝑖𝑛ଶ45°   ¼c½ 𝑐𝑜𝑠ଶ45° ¼l½ 𝑠𝑒𝑐ଶ45° ¼n½ 𝑐𝑜𝑠𝑒𝑐ଶ45° 

Value of 1 + 𝑡𝑎𝑛ଶ45° is    

¼a½ 𝑠𝑖𝑛ଶ45°  ¼b½ 𝑐𝑜𝑠ଶ45°  ¼c½ 𝑠𝑒𝑐ଶ45°  ¼d½ 𝑐𝑜𝑠𝑒𝑐ଶ45° 

¼5½ ,d foÙkh; o’kZ gksrk gS &  
¼v½ 1 tuojh ls 31 fnlEcj rd    ¼c½ 1 tqykbZ ls 30 twu rd 
¼l½ 1 vizSy ls 31 ekpZ rd    ¼n½ 1 ebZ ls 30 vizSy rd  
A financial year become    
¼a½ 1st January to 31 December   ¼b½ 1st July to 30 June   
¼c½ 1st April to 31 Amrch    ¼d½ 1st may to 30 April 

[k.M ¼c½ / Part (B) 
Ikz”u % ¼1½ mfpr lacaa/k tksfM+;s 
Q. (1) Match the following  

¼i½ ljy js[kk  y = x  esa js[kk dh <+ky gksxhA 
(i) Slope of line in the straight line  y = x will be  

(i) 12 

¼ii½ nks le:Ik f=Hkqtksa ds {ks=Qyksa dk budh laxr Hkqtkvksa ds oxZ 
ds vuqikr esa gksrk gSA 
(ii) The ratio of the areas of two similar triangles is to the 
ratio of their corresponding sides 

(ii) 15 

¼iii½ 20 vkSj 10 dk lkekUrj ek/; gksxkA 
(iii) The arithmetic mean of 20 and 10 will be  

(iii) leku 
equal  

¼iv½ ;fn ¾30 gks rks tan2 dk eku gksxk (iv) 1 
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(iv) if  ¾30 then the value of tan2 will be  
¼v½ fdlh ?kukHk dh vkdk”kh; fod.kksZa dh la[;k gksrh gS 
(v) The number of space diagonals of the cuboid is  

1

3
 

 
[k.M ¼l½ / Part (C) 

Ikz”u % ¼1½ fjDr LFkkuksa dh iwfrZ dhft,& 
Q. (1) Fill in the blanks 

¼1½  ;fn 𝑥ଶ = 9  gks rks x dk eku --------------------------------- gksxkA  
¼1½ If 𝑥ଶ = 9  then value of  x will be ……………  
¼2½ nks vuqikrksa dh rqyuk ----------------------------- dgykrh gSA    
¼2½ Comparison between two ratio is said to be …………………   
¼3½  ewy fcUnq ds funsZ”kkad ----------------------------- gksrs gSaA  
¼3½ The coordinate of origin is ………….. 
¼4½ oÙ̀k dk O;kl mldh ----------------------------- dh nqxquh gksxhA  
¼4½ Diameter of circle will be double of its ………………..  
¼5½ vkorhZ tek [kkrksa esa C;kt dh x.kuk --------------------------- gksrh gSA  
¼5½ In recuring deposits calculation of interest is ………………  

Ikz”u % ¼2½ cgqin 2𝑦ଷ + 4𝑦ଶ + 3𝑦 + 1 dks 𝑦 + 1 ls Hkkx nsdj HkkxQy ,oa “ks’kQy Kkr 
dhft,A  

Find the quotient and remainder on dividing  2𝑦ଷ + 4𝑦ଶ + 3𝑦 + 1  by 𝑦 + 1  
Ikz”u % ¼3½ ;fn 29 iqLrdks dk eqY; 783 :- gS rks 2214 :- esa fdruh iqLrdsa feysxh \   

If the cost of 29 books is Rs. 783 then how many books can be purchased in Rs. 
2214 

Ikz”u % ¼4½ ewy fcUnq rFkk fcUnq ¼2] 0½ ds chp dh nwjh Kkr dhft,A   
Find the distance between point (2,0) and origin 

Ikz”u % ¼5½ eku Kkr dhft, &  
 𝑠𝑖𝑛63°𝑐𝑜𝑠27° + 𝑐𝑜𝑠63°𝑠𝑖𝑛27°  

Find the value of – 
   𝑠𝑖𝑛63°𝑐𝑜𝑠27° + 𝑐𝑜𝑠63°𝑠𝑖𝑛27°  

Ikz”u % ¼6½ ekf/;dk Kkr dhft, & 
 25 ] 21 ] 23 ] 18 ] 20 ] 23 ] 24  
Q. (6) Find the median   25 ] 21 ] 23 ] 18 ] 20 ] 23 ] 24 

Ikz”u % ¼7½ √3 + 1 vkSj √3 − 1  dk lekUrj ek/; Kkr dhft, &   

Find the arithmetic mean of √3 + 1 and  √3 − 1 
Ikz”u % ¼8½ ,d 35 lseh- ÅpkbZ okys tkj esa 11 yhVj twl vkrk gSA tkj dk O;kl Kkr dhft,A 

¼1 yh ¾ 1000 ?ku lseh-½ 
11 liter juice is filled in a cylindrical vessal of light 35 cm. Find the diameter of the 
jar. 
(1 Liter = 1000 Cubic cm.)   
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Ikz”u % ¼9½ fl) dhft, fd fdUgh Hkh rhu Øekaxr le la[;kvksa dk ;ksx ges”kk 6 xq.kt gksrk gSA 
Prove that the sum os them successive ever integers is always multiple of 6.  

 

Ikz”u % ¼10½ og f}?kkr lehdj.k Kkr dhft, ftlds ewy (2 + √7 ) o (2 − √7 ) gSA    

Find the quadratic equation whose roots are ൫2 + √7 ൯ and  (2 − √7 ) 

 
Ikz”u % ¼11½ fuEu lkj.kh ls ek/; dh x.kuk dhft,A  

oxZ 0&10 10&20 20&30 30&40 40&50 50&60 
vko`fÙk 5 8 16 10 7 4 

 

Find the mean from the following table   
Class 0&10 10&20 20&30 30&40 40&50 50&60 
Frequency 5 8 16 10 7 4 

 
vFkok /OR 

fuEu lkj.kh ls cgqyd dh x.kuk dhft, &  
oxZ 0&10 10&20 20&30 30&40 40&50 50&60 
vko`fÙk 6 11 21 23 14 5 

 Calculate the mode from the following table  
Class 0&10 10&20 20&30 30&40 40&50 50&60 
Frequency 6 11 21 23 14 5 

Ikz”u % ¼12½ nks xksyksa ds vk;ruksa dk vuqikr 64 % 27 gSA muds i`’Bh; {ks=Qyksa dk vuqikr Kkr 
dhft,A   

The ratio between the valume of two sphere is 64 : 24 then  find their ratio between 
surface area. 

vFkok /OR 
;fn ,d csyu dk vk;ru 3080 ?ku lseh- vkSj Å¡pkbZ 20 lseh- gSA rks csyu dh f=T;k 
rFkk oØ i’̀B Kkr dhft,A  
Find the radius and curved surface of a cylinder whose volume is 3080 cabic cm 
and height 20 cm   
 

Ikz”u % ¼13½ nh xbZ vk—fr esa OP = 13 lseh- rFkk o`Ùk dh f=T;k 5 lseh- gSA fcUnq P ls oÙ̀k ij 
[khaph xbZ Li”kZ js[kk,¡ PT o PS dh yEckbZ Kkr dhft,A     

  

In the given diagram OP = 13 cm and radius of a circle is 5cm . tangent drown 
from the point P find the length of the tangent line PT and PS.   
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vFkok /OR 

 FksYl dk izes; fyf[k, rFkk fl) dhft, &     
State and prove the thales Theorem 
 

Ikz”u % ¼14½ ;fn nks fcUnqvksa P(2, -3) vkSj Q(x, -7) ds chp dh nwjh 5 gSA rks x dk eku Kkr 
dhft, &     

Find the value of x , if distance between two points P(2, -3) and Q(x, -7) is 5.    
 

vFkok /OR 
  

,d ifjokj esa 5 lIrkg rd mi;ksx fd;s x;s I;kt dh ek=k fdyksxzke esa fuEulkj.kh esa 
nh xbZ gSA lIrkg ,oa mi;ksx fd, x, I;kt dh ek=k ds chp vkys[k [khafp,A  
lIrkg 1 2 3 4 5 
I;kt dh ek=k ¼fd-
xzk esa½ 

1 2 3 4 5 

The table below shows the questions of onions consum (in kg) over 5 weaks by a  
family. Draw a graph between and quantity of onion consumed 
week 1 2 3 4 5 
Quentity of onion 
(in Kg) 

1 2 3 4 5 

 

Ikz”u % ¼15½ ABC ds ifjxr o`Ùk dh jpuk dhft, ftlesa BC = 6lseh-] B = 50 vkSj C = 
70 jpuk ds in Hkh fyf[k, & 

Construct a circumscribe is a triangle ABC in which BC = 6 cm , B = 50 and 

C = 70 Write steps of construction also.    
vFkok /OR  

,d f=Hkqt PQR cukb;s ftlesa QR = 6 lseh-] PQ = 5 lseh- rFkk PQR = 60 gSA 
bl f=Hkqt ds le:Ik ,d f=Hkqt ABC cukb;s ftlesa AB = 2/5 PQ. 
Draw a triangle PQR in which QR = 6cm , PQ = 5 cm and PQR = 60 . Draw a 
triangle ABC similar to  triangle PQR in which AB = 2/5 PQ. 
 

Ikz”u % ¼16½ ,d O;fDr lkof/k tek [kkrs esa 4% okf’kZd O;kt dh nj ls 2 o’kZ ds fy, 100000 
:- fuos”k djrk gS rks ifjiDork ds le; fdruh jkf”k izkIr gksxhA ;fn C;kt okf’kZd 
la;ksftr gksrk gSA  

A person deposited in a fixed deposit schemeat the rate of 4% annually for Rs. 
100000 for 2 year Then how much mony will be  get on maturity  if intrest is 
calculated annually.  

 vFkok /OR  
vf[ky us ,d cSad esa 300:- izfr ekg dh nj ls 2 o’kZ ds fy, vkorhZ tek [kkrk [kksyk 
;fn C;kt dh nj 5% okf’kZd gks rks 2 o’kZ ckn mls fdruh jkf”k izkIr gksxhA    
Akhil deposited Rs. 300 Rs. Per month for 2 year in a recurring deposit account. 
If rate of interest is 5% annually then how much money will be get offer 2 years     
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Ikz”u % ¼17½ lehdj.k gy dhft, &   

   
௦௜௡ఏ

ଵି௖௢௦
+

௦௜௡ఏ

ଵା௖௢௦ఏ
= 4 

Solve the equations 

     
௦௜௡ఏ

ଵି௖௢௦ఏ
+

௦௜௡ఏ

ଵା௖௢௦ఏ
= 4  

vFkok /OR 
 

,d ehukj ds vk/kkj ij fLFkr fdlh fcUnq ls ehukj ds f”k[kj dk mUu;u dks.k 30 gSA 
ehukj dh vksj 30 ehVj pyus ij mUu;u dks.k 45 gks tkrk gSA ehukj dh Å¡pkbZ Kkr 
dhft,A  
Angle of elevation of a tower from any point of the base of the tower is 30. 
Moving to wards 30 meter to the tower the angle of elevation be comes 45. Find 
the height of the tower.  

 

Ikz”u % ¼18½ fdlh lekUrj Js.kh ds p osa q osa 𝑟 osa inksa dk ;ksxQy Øe”k% a , b , c gS rks fl) 

djksa fd 
௔

௣
(𝑞 − 𝑟) +

௕

௤
(𝑟 − 𝑝) +

௖

௥
(𝑝 − 𝑞) = 0 

Q. (18) Sum of pth , qth , 𝑟th  terms of an A.P. are a,b,c respectively then prove that  
௔

௣
(𝑞 − 𝑟) +

௕

௤
(𝑟 − 𝑝) +

௖

௥
(𝑝 − 𝑞) = 0   

 vFkok /OR  

;fn ,d la[;k vkSj mlds O;qRØe dk ;ksx 
଺ଵ

ଷ଴
 gS rks la[;k,sa Kkr dhft,A  

The sum of a number and its reciprocal is 
଺ଵ

ଷ଴
 find the numbers  
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